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(a) Using the double angle formula sin 24 = 2sin A cos 4, show that the equation
secx cosecx — 5 = cosec 2%

can be rewritten in the form

‘cosec2x=5.
31

(b) Hence solve, in the range 0 < x < 2, the equation

secx cosecx — 5 = cosec 2x

giving your answers correct to 3 significant figures.
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(a) Show that the equation
tan?x = 6secx — 10
can be rewritten in the form

(secx—3)2=0.

(b) Hence solve, in the range 0 < x < 2, the equation
tan?x = 6secx — 10

giving your answers correct to 3 significant figures.
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(a) Show that the equation
tan?x = 6secx — 10
can be rewritten in the form

(secx—3)2=0.

(b) Hence solve, in the range 0 < x < 2, the equation
tan?x = 6secx — 10

giving your answers correct to'3 significant figures.
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3
Given that x satisfies the equation arccos.x = k,where 0 <k <7,

(i) state the range of possible values of x,
(i) express both sin k and tan k in terms of x.
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() Prove that for:0 < x < 1, arcsin ¥ = arccos Vi = #2.

(b) Explain why this is not true for ~1 < x < 0.
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(a) Prove that for 0 < x < 1, arcsin x = arccos VI — xZ.
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(b) Explain why this is not true for =1 € ¥ < 0.
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(i) Sketch, in the interval —27 < 6 < 2, the graph of y = 3 + 2 cosec, include 'i
asymptotes and label the coordinates of all maximum and minimum points.
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(i) Hence, deduce the number of solutions to the equation 3 + 2 cosec = ; in the
interval -2 < 6 < 2m.
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The function f is defined as f(x) = arccosx,—1 < x < 1,and the function g is such
that g(x) = £(3x).

(a) Sketch the graph of y = f(x) and state the range of f.

131
(b) Sketch the graph of y = g(x) and state the domain of g.

3]
(©) Find the inverse function g~ (x) and state its domain.
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‘The function f is defined as f(x) = arccosx,~1 < x < 1, and the function g is such

that g(x) = £(3%).

(a) Sketch the graph of y = f(x) and state the range of f.

131
(b) Sketch the graph of y = g(x) and state the domain of g.
3]
(©) Find the inverse function g~ (x) and state its domain.
(2]
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The function f is defined as f(x) = arccosx, —1 < x < 1, and the function g is such <i> ( ~ (3 o)
that g(x) = £(3%). ﬁ x)=

(a) Sketch the graph of y = f(x) and state the range of f.
&) @(Sac)”« avceos (391

(b) Sketch the graph of y = g(x) and state the domain of g.
3]

(c) Find the inverse function g~! (x) and state its domain. LeT j = arecos (33&)
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(a) Use the definitions of the secant, cosecant and cotangent functions to show that

secH cotB = cosect.

(b) Hence solve, in the range 0 < 6 < 27, the equation

sechcotf = —2.
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Al
(a) Use the definitions of the secant, cosecant and cotangent functions to show that b) CoNVERT To Sme 4o Soz VE
sechcot = cosect.
CoSec® = — L
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(b) Hence solve, in the range 0 < 6 < 2, the equation _)__ = -2
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(a) Show that the equation
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3-sech= 2
70" ech
can be rewritten in the form
(sech - 2)(sech 1) = 0. - ) -2
Secer(3 - Sec®)=
[21
2 -
(b) Hence solve, in the range 0 < 6 < 21, the cquation 3 ec & — Sec & = 2z
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(a) Show that the equation

3 sech = —
s¢¥ = Sech

can be rewritten in the form

(secd —2)(sec6 1) = 0.

(b) Hence solve, in the range 0 < 6 < 2, the equation

3-sech=—.
0= ec

T

b

(sece—2)(sec®-1)=0

—l -2:-0 _\‘ - =
Cose- Cos&-
’l_— PR '— = ]
Cos & Cor &
| =
Cafe"i Cos®& ‘
erly)sn )0

(o8 :CD/?JT

9 =0, —;'ﬂ, %rr, 27T





image5.png
(a) Using the double angle formula sin 24 =2sin A cos 4, show that the equation
secx cosecx — 5 = cosec 2x
can be rewritten in the form
cosec2x =5.
31
(b) Hence solve, in the range 0 < x < 2, the equation
secx cosecx — 5 = cosec 2x

giving your answers correct to 3 significant figures.
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